H & 0l & AHS B Ml A

A SAlZe Dt
33 YHE TAEE =4
Selr A 2= EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
A2l 4,631,457 4,283,657 347,800
WEE ZAIEE X4 4,527,327 4,179,527 347,800
SADIEE 2= 3,878,635 3,530,835 347,800
C23H & ®mAl2e 1,182,797 1,134,997 47,800
201 ZB=EhI 37,897 35,497 2,400
02 33234l 21,497 19,097 2,400
OXSS+=2AER 423
110,000 123 1,320 120 1,200
OXNSS=2AER HIIes
100,000& « 122 1,200 0 1,200
305 =S 10,400 5,000 5,400
01 Bie=s 10,400 5,000 5,400
Otial=3 10,400 5,000 5,400
401 AlEHIZL 2] 1,106,000 1,066,000 40,000
01 Al&EHI 1,105,000 1,065,000 40,000
OFXNLISISY 2| M2 TH(NS
& A +E00) 40,000,0003 %14 40,000 0 40,000
N2 U2 EEAY 1,000,000 700,000 300,000
401 AIEHIZL 20| 1,000,000 700,000 300,000
01 Al&ZHI 1,000,000 700,000 300,000
O==52 MWEH (L=2km, B=10~25m) 300,000 0 300,000




